EARAROBEEIERT — 2 N— IBISH —F

2018528260 (A) 13@)IIz1H

(VAR B E+455 C2— H5R—MK (xwlw | mEmml - |5 5 w8
[A&4£] 1 7% :1,700,000 @ 2 3 :595,000 @ 33 :340,000  ~ 4 3#&:255,000 @ 5 7 :170,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. - SHfE— 145. -1-1- . — SRE— (1l
1 9 LYILF 4 4 a0 1(4_5)2 1-1-1-1 | 40.4 3 ;1522) /T\m%
RiAfa9Rk—5— B:FL74Zh Bllikie]
—: = B4 | EEAEIsE 1:45.6 7-7-4-3 | 40.2 | — 1 465 |=AE— (1)
21814 ET/T—T 54.0 ) w3 | (B J PN
LNNVTSY Biaxsoq4—2 BREB  fEAKER
S g . bAllEszaR e . -9—1 0~ - RIS (GaFn)
311 v>Fugn—n # 5 el 1.(415>.8 9-9-10-9 | 40.1 7 (4_856) R o
LYK YTYRIR BiLFqSL— R SUR KIS
< oL = SEFRER : 55— — IEE (i)
407112 S2EN T — R 56.0 1';5[:1? R R > <5+112) IRAEE
RiFATA T v— BELEZ—Za K- REKS
- ; o4 | WisEt 1:45.9 8-8-7-8 |40.4| — 4 499 | Lim®E (J11&)
5|5/7| VY=tV 56.0 (7E) s
R:V>RKYZYAIR B:v~v=>T7)—F SRS
- - é.:” . -4-3-, — | [=]
6 6| PVETLZXRY R "o SSEOCQA (11'416/'21) a3 09 2 ?_i; gg%g i)
RHTIRIAY B:TIANFTRT HET7— L
=2 5 | FHEE 1:46.2 2-2-2-2 | 41.2| — 8 445 | FEAEE (B
7l n| by FTea SRR/ e w2) |IlEmE
LY LIZAN— bt BRIV /T4TT #AR ®E
< e on 4y AHIES : —6-8- — BEH— (i)
8 o | SHNINH it 4 G 1(.51/%3 6-6-8-7 | 40.8 6 (338) L]
:A-I> 79> Bk 3y roavEERRSH T a3 vK
. . FNERES 146. —3-5- . — FEAEE (GEF)
9 4 J—K+@O> 4 6 e a 1(;/64)5 3-3-5-3 | 41.3 9 (A_L;i;) ;mﬁ&‘;ttﬁ
LR T b F -G —K— K BUT—FLIT HESH UT-—F
— =iEs .46, —11-13- 7| = MEBE (15
10 5|71 7= 4 54.A 1(;/%6 11-11-13-10| 40.7 1 (4_512) i
R:TFRVIT B:TIRHRF AN~ FIXTT—L
. i 5 | ERRE 1:46.8 13-13-11-11{ 40.9 | — 13 | 448 |1EAAKIH (fatE)
11|58 | N7 F-L 54.0 3/4) (o) |fEaARE
R:FHYTTIIRE BiLE1-FHVT P e
# 5 | B9 1:46.8 12-12-12-11{ 40.9 | — 12 | 425 |EOFE (A7)
12/1813| Y27 6.0 75%) Ly | FESR
R:T14—TxAhA4 B:vAHF-4 Bllikae]
N ¢ BHE :47. -10-9- . - EHF (iafE)
13010l 71— on— # 5 ze (11 417/21) 10-10-9-11 | 41.4 10 :1_536) LA et
R:TZ79 784K B:XH-UVANRIE— FR%E
N - . H 6 ABEX = = — - - — BHEE (i)
Y3 E-FZT> 56.0 (BGH) (—) |REBES (B)
L:vAxItELIh B3I [re—tie]
® 1—F—@EBIERL
1T=7r= 9,11,4,6,12,2,14,7,1,10,5,13,8
2a=5F= 9,11,4,6,12,2,14,7,1,10,5,13,8
Ja=5= 9,11,6,14,(4,12),7,2,10,1,8,13,5
43—+ — 9,11, (4,6,12,14),2,7,1,5, (8,10,13)
[ N5
B OB 9 4208 | | 714K 9-14 2701 | | # E 6-8 640/ | | 3EfE 1-9-14 3,890M
B B 9 180H4 1-9 1,630 e B 6-8 1,670M 3EE 9-14-1 18,460H
14 130H4 1-14 1,010 B & 9-14 580M
1 340/ B HE 9-14 1,550

ABICOVWTRDTEEERROODE. TR LIV,




